
lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku    
Blue Print 

Unit – I ¼bfrgkl½¼bfrgkl½¼bfrgkl½¼bfrgkl½    
X Class 

 

  

VSA 

1 

Mark 

SA 

2 

Mark 

SA 

3 

Mark 

LA 

5 

Mark 

Skills 

2 

Mark 

Total 

1 ;wjksi esa jk"Vªokn dk mn; 
1¼1½ 

1* 
    1 

2 
baMks pkbuk esa jk"Vªoknh 

vkanksyu 
1¼1½  3¼1½   4 

3 Hkkjr esa jk"Vªokn    5¼1½  5 

4 
HkweaMyh;Ñr fo’o dk 

cuuk 
  3*    

5 vkS|ksxhdj.k dk ;qx   3¼1½   3 

6 dke] vkjke vkSj thou   3¼*½    

7 
eqnz.k laLÑfr vkSj 
vk/kqfud nqfu;k 

   5¼1½  5 

8 miU;kl] lekt vSj    5¼*½   

 ekufp= dk;Z     2¼1½ 2 
  2  6 10 2 20 

 

bdkbZ & bdkbZ & bdkbZ & bdkbZ & III ¼ukxfjd’kkL=½¼ukxfjd’kkL=½¼ukxfjd’kkL=½¼ukxfjd’kkL=½    
Unit – III ¼¼¼¼Civics½½½½    

X Class 
 

  

VSA 

1 

Mark 

VSA 

2 

Mark 

VSA 

3 

Mark 

LA 

5 

Mark 

Total 

Marks 

1 v/;k; & 1 lRrk dh lk>snkjh    5¼1½ 5 
2 v/;k; & 2 la?kokn    5¼*½  
3 v/;k; & 3 yksdra= vkSj fofo/krk   3¼1½  3 

4 v/;k; & 4 tkfr] /keZ vkSj ySafxd elys 1¼1½ 
1¼1½    2 

5 v/;k; & 5 tu la?k"kZ vkSj vkanksyu    5¼1½ 5 
6 v/;k; & 6 jktuhfrd ny    5¼*½  
7 v/;k; & 7 yksdra= ds ifj.kke    5¼1½ 5 
8 v/;k; & 8 yksdra= dh pqukSfr;k¡    5¼*½  

 

Marks :- 20 
 

 



 

* vFkokvFkokvFkokvFkok 
 

bdkbZ & bdkbZ & bdkbZ & bdkbZ & IV ¼vFkZ’kkL=½¼vFkZ’kkL=½¼vFkZ’kkL=½¼vFkZ’kkL=½    
Unit – IV ¼¼¼¼ECONOMICS½½½½    

X Class 
 

  

VSA 

1 

Mark 

VSA 

2 

Mark 

VSA 

3 

Mark 

LA 

5 

Mark 

Total 

Marks 

1 
v/;k; & 1  
fodkl 

1¼1½ 
1¼1½    2 

2 v/;k; & 2  
Hkkjrh; vFkZO;oLFkk ds {ks=d 

  3¼1½  3 

3 v/;k; & 3  
eqnzk vkSj lk[k 

1¼1½ 
1¼1½ 

  5¼1½ 7 

4 
v/;k; & 4  

oS’ohdj.k vkSj Hkkjrh; vFkZO;oLFkk    
5¼1½ 

* 
5 

5 
v/;k; & 5  

mi;ksDrk vf/kdkj   3¼1½  3 

 

20 

* vFkokvFkokvFkokvFkok    
 

Unit – II ¼¼¼¼GEOGRAPHY½½½½    
X Class 

 

 v/;k;v/;k;v/;k;v/;k;    Marks 

VSA 

1 

Mark 

SA 

2 

Mark 

SA 

3 

Mark 

LA 

5 

Mark 

Skills 

2 

Mark 

Total 

Marks 

1 lalk/ku ,oa fodkl 1¼1½ 1¼1½  3* 5 *  1 
2 ou ,oa oU; tho lalk/ku 1* 1*      
3 ty lalk/ku     5¼1½  5 
4 Ñf"k 1¼1½ 1¼1½   5 *  1 
5 [kfut ,oa ÅtkZ lalk/ku    3*    
6 fofuekZa.k m|ksx    3¼1½ 5¼1½  8 

7 
jk"Vªh; vFkZO;oLFkk dh thou 

js[kk gS     5 *   

 ekufp= dk;Z      5 5 
   2  1Q 2Q 1Q 20 

 
 

 

 

 

 

 

 



lsV&lsV&lsV&lsV&I                                                                                      Secondary    
Model Question Paper  
izk:i iz’u&i=izk:i iz’u&i=izk:i iz’u&i=izk:i iz’u&i=    

    

lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku                                                                                                                            
(X

th
 ) 

 

 
¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½    

General Instructions  

1 ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA   

 Candidates are required to give their answers in their own words as far as 

practicable.  

2 bl iz’ui= esa pkj bdkbZ gSa ,oa lHkh bdkbZ ds lHkh iz’uksa dk mÙkj nsuk 
vfuok;Z gSA  
The question paper consists of Four units and all questions in all units are 

compulsory.   

 i) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    I       Unit – I ¼bfrgkl History½       & 20 vad  
 ii) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    II      Unit – II ¼Hkwxksy Geograpy½     & 20 vad 

iii) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    III   Unit – III ¼ukxfjd 'kkL= Civics½ & 20 vad 
iv) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    IV   Unit – IV ¼vFkZ’kkL= Economics½   & 20 vad 

3 izR;sd iz’u ds vad mlds lkeus vafdr gSaA  

 The figures in the margin indicate full marks of the question.   

4 iz'uksa ds mÙkj iz’uksa ds lkFk fn;s x, funsZ’k ds vkyksd esa gh nsaA   

 Answer of the question must be in the context of the instructions given therein.  

5 tgk¡ dgha Hkh vko’;d gksa] mUgsa LoPN vkjs[k [khafp,A  

 Draw neat and clean diagrams wherever necessary.  

6 iz'u&lg&mÙkj iqfLrdk esa gh js[kk ekufp= fn, gq, gSaA   

 The outline maps are given in the question-cum-Answer Booklet itself.   

bdkbZ&bdkbZ&bdkbZ&bdkbZ& I    ¼¼¼¼bfrgklbfrgklbfrgklbfrgkl½½½½                             

Unit – I (History) 

 lgh fodYi pqulgh fodYi pqulgh fodYi pqulgh fodYi pqussss    choose the correct option                                                                                 
1- usiksfy;u cksukikVZ dkSu Fkk\ Who was Nepolian Bonapart ?       1 

 vFkokvFkokvFkokvFkok  

 jk"Vªokn ls D;k le>rs gSa\ What do you mean by Nationalism ?         

2- fo;ruke dks Lora=rk dc izkIr gqbZ\  
When did Vietnam get independence ?   
 

1 

3- fo;ruke esa mifuos’kokn fojks/kh Hkkoukvksa ds fodkl esa /kkfeZd laxBuksa 
dh Hkwfedk D;k Fkh\ 
What was the role of religious groups in the development of anti-colonial feeling in 

Vietnam ?   

3 

 vFkokvFkokvFkokvFkok  

 cszVu oqM~l le>kSrs dk D;k vFkZ gS\ 
What is meant by the Bretton woods agreement ?  

 

dqy iz’uksa dh la[;k&27 
Total No. of Question =27 

iw.kkZad %  
Full Marks : 80 



   
4- vkS|ksfxd ØkfUr dk vFkZ le>k,¡A  

Explain the meaning of the term industrial revolution.    
3 

 vFkokvFkokvFkokvFkok  

 vBkjoha lnh ds e/; ls yanu dh vkcknh D;ksa QSyus yxh\ nks dj.k 
crk,¡A  
Why the population of  London started expanding from middle of the eighteenth 

Century.        

 

5- xk¡/khth us vlg;ksx vkanksyu dks okil ysus dk QSlyk D;ksa fy;k\ 

Why Gandhiji decided to withdraw the Non-Cooperation Movement ?    

 

6- vUuhloha lnh esa Hkkjr esa xjhc turk ij eqnz.k laLd`fr dk D;k 
vlj gqvk\ 
What were the effects of the spread of print culture on people in nineteenth Century 

India ?  

 

 vFkokvFkokvFkokvFkok  

 vkSifuosf’kd Hkkjr esa miU;kl fdl rjg mifuos’kdkjksa vkSj jk"Vªokfn;ksa] 
nksuksa ds fy, ykHknk;d Fkk\ 
In what ways was the novel in colonial India useful for both the colonisers as well 

as the nationalists ?         

 

7- fn;s x;s fo’o ds js[kk ekufp= ij fuEufyf[kr LFkkuksa dks n’kkZb,% 

¼iznÙk ekufp= dk iz;ksx djsa½A 

    ¼d½ xzsV fczVsu 

    ¼[k½ Jhyadk   

In the given outline map of world mark the following places : (Use the given map). 

(a) Great Britain 

(b) Sri Lanka.  

 

 



 

 

 bdkbZ&bdkbZ&bdkbZ&bdkbZ& II    ¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½                             

Unit – II (Geography) 

 

8- iatkc esa Hkwfe fuEuhdj.k dk fuEufyf[kr esa ls eq[; dkj.k D;k gS\  

Which one of the following is the main cause of land degradation in Punjab?   

1 

 (a) xgu [ksrh Intensive cultivation    (b) vf/kd flapkbZ Over irrigation    

(c) ouksUewyu Deforestation         (d) vfr i'kqpkj.k Overgrazing 

 

9- fuEufyf[kr esa ls dkSu lk ml d`f"k iz.kkyh dks n’kkZrk gS ftlesa ,d 

gh Qly yEcs&pkSM+s {ks= esa mxkbZ tkrh gS\ 

Which one of the following describes a system of agriculture, where a single crop is 

grown on a large area?    

1 

 (a) LFkkukarjh d`f"k Shifting Agriculture  (b) jksi.k d`f"k Plantation Agriculture    

(c) ckxokuh Horticulture            (d) xgu d`f"k Intensive Agriculture 

 

10- m|ksxksa dh vofLFkfr dks izHkkfor djus okys rhu HkkSfrd dkjd crk,¡A 

Name any three Physical factors for the location of the industry.   

3 

 vFkokvFkokvFkokvFkok     

 ty nqyZHkrk D;k gS\ blds rhu eq[; dkj.kksa dks fy[ksaA  

What is water scarcity? Write its three main causes.    

 

11- cgqmís'kh; ifj;kstukvksa ls gksus okys dksbZ ik¡p ykHk dk mYys[k djsaA  

Name any five merits of multi-purpose river project.  

5 

 vFkokvFkokvFkokvFkok     

 ,d is; Qly dk uke crk,¡ rFkk mldks mxkus ds fy, vuqdwy 

HkkSxksfyd ifjfLFkfr;ksa dk fooj.k nsaA  

Name one important beverage crop and specify the geographical conditions 

required for its growth.   

 

12- m|ksx i;kZoj.k dks dSls iznwf"kr djrsa gSa\ 

How do industries pollute the environment?  

5 

 vFkokvFkokvFkokvFkok     

 d`f"k mRiknu esa o`f) lqfuf’pr djus ds fy, ljdkj }kjk fd, x, 

mik; lq>kb,A  

Suggest the initiative taken by the government to ensure the increase in agriculture 

production.  

 



 

13- 

¼d½ 

fn;s x;s Hkkjr ds js[kk ek=fp= ij fuEufyf[kr dks n’kkZb,A  
(i) Fkkj e:LFky 
(ii) iwohZa rVh; eSnku 

1+1 

= 2 

 Show the following in the given outline map of India.  

(i) Thar desert  
(ii) The eastern Coastal  Plain 

 

 

 

¼[k½ fn;s x;s Hkkjr ds js[kk ekufp= dk /;kuiwoZd v/;;u dhft, vkSj 
¼d½] ¼[k½ rFkk ¼x½ }kjk iznf’kZr txgksa dks igpku dj ukekafdr 
dhft,A  

1+1 

+1= 

3 

 Study the given outline Map of India carefully and name and identify the places 

which are indicated by (a), (b) and (c). 

 

 



 
 bdkbZ&bdkbZ&bdkbZ&bdkbZ& III    ¼ukxfjd’kkL=¼ukxfjd’kkL=¼ukxfjd’kkL=¼ukxfjd’kkL=½½½½ 

Unit – III (Civics) 

 

14- dks"Bd esa ls lgh 'kCn dks pqudj fjDr LFkku dks Hkfj, % 
  lkaiznkf;d vk/kkj ij --------------- lkaiznkf;drk dk nwljk :i gSA   
              ¼vkfFkZd xksycanh] jktuhfrd xksycanh½ 

1 

 Fill in the blank with correct words given in brackets :  

  …………………. on religious lines is another form of Communalism.   

                           (Economic mobilisation, Political mobilisation) 
 

 

15- dks"Bd esa ls lgh 'kCn dks pqudj fjDr LFkku dks Hkfj, %  
   pquko esa ------------------- dh Hkwfedk egRoiw.kZ gksrh gSA   
          ¼tkfr] /keZ½ 

1 

 Fill in the blank with correct word given in bracket:  

       In election …………. Plays an important role.  

                        (Caste, Religion)  
 

 

16- lkekftd foHkktu fdl rjg ls jktuhfr dks izHkkfor djrs gSa\ nks 
mnkgj.k Hkh nhft,A  

3 

 How do social divisions affect politics? Give two examples.    

17- csfYt;e esa lRrk dh lk>snkjh dh O;oLFkk dh ppkZ djsaA  
Discuss the power sharing arrangements in Belgium.  

5 

 vFkokvFkokvFkokvFkok     

 'kklu ds la?kh; vkSj ,dkRed Lo:iksa esa D;k&D;k eq[; varj gS\ 
bls mnkgj.k ds ek/;e ls Li"V djsaA  
What is the main difference between a federal form of government and a Unitary 

one? Explain with an example. 
 

 

18- ncko lewgksa dh xfrfof/k;k¡ yksdrkaf=d ljdkj ds dkedkt esa dSls 
mi;ksxh gksrh gSa\ 
Explain how the activities of pressure groups are useful in the functioning of a 

democratic government.   
 

5 

 vFkokvFkokvFkokvFkok     

 fdlh Hkh jktuhfrd ny ds D;k xq.k gksrs gSa\ 
What are the characteristics of a Political Party?  
 

 

19- Ykksdra= dks lcls vPNh 'kklu O;oLFkk D;ksa dgk tkrk gS\ 
Why is democracy considered better than any other form of government?  

5 

 vFkokvFkokvFkokvFkok     

 Hkkjr esa yksdrkaf=d vf/kdkjksa dh ppkZ djsaA  
Discuss the democratic rights in India.  

 

 

 

 

 

 

 



 
 bdkbZ&bdkbZ&bdkbZ&bdkbZ& IV    ¼vFkZ’kkL=¼vFkZ’kkL=¼vFkZ’kkL=¼vFkZ’kkL=½½½½ 

Unit – IV (Economics) 

 

20- izfr O;fDr vk; D;k gksrh gS\ What is Per Capita Income?  
 

1 

21- ck¡/kksa dk D;k ykHk gSa\ What are advantages of the Dams?  
  

1 

22- oLrq fofue; fdls dgrs gS\ What is the barter System?  
  

1 

23- Eqnzk dh ifjHkk"kk nsaA Define Money. 
  

1 

24- egkRek xk¡/kh jk"Vªh; xzkeh.k jkstxkj xkjUVh vf/kfu;e] 2005 ds 
mís’;ksa dh O;k[;k djsaA  
Explain the objective of implementing the Mahatma Gandhi National Rural 

Employment Guarantee Act, 2005. 
 

3 

25- Hkkjr esa miHkksDrk vkanksyu dh 'kq:vkr fdu dkj.kksa ls gqbZ\ blds 
fodkl ds ckjs esa irk yxk,¡A  
What factor gave birth to the Consumer Movement in India? Trace its evolution.  
  

3 

26- ns'k dh vFkZO;oLFkk esa cSadks dh D;k Hkwfedk jgrh gSa\ 
What role do the banks play in the economy of the Country?  
 

5 

27- Je dkuwuksa esa yphykiu daifu;ksa dh dSls lgk;rk ¼enn½ djrk gS\ 
How do the flexibility in Labour laws help companies?    

5 

 vFkokvFkokvFkokvFkok     

 O;kikj vkSj fuos’k uhfr;ksa dk mnkjhdj.k oS’ohdj.k izfØ;k esa lgk;rk 
dSls igq¡pkrh gS\ 
How has liberalisation of trade and investment policies helped in the globalisation 

Process?   

 

 


